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#include <avrf/io.h>
#include <avr/interrupt.n>
#include <avr/signal.h>
#include <avr/wdt.h>
#include <avr/delay.h>
#include <avr/pgmspace.h>
#include <stdio.h>
#include <stdlib.h>

#define SET_LED PORTE&=0xDF
#define CLR_LED  PORTE|=0x20

/********************************************/
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/********************************************/
/*
int main()
{
uint8_t i,j=0;
DDRE = _BV/(PE5);
PORTE = _BV/(PE5);
TCNTO=0;
TCCRO = _BV(CS02)|_BV(CS00);
while(1)
{
for(i=0;i<15;i++)
{
loop_until_bit_is set(TIFR,TOVO);
TIFR|= _BV(TOVO0);

}
if(j)
SET_LED,j=0;
else
CLR_LED,j=1;
}
}
*/

/********************************************/
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/********************************************/
/*

static  uint8_t ghcount = 0;

static  uint8_t ghdirection = 0;

SIGNAL(SIG_OVERFLOWO)
{
if (++gbcount>55)
{
if(gbdirection)
SET_LED,ghdirection = 0;
dse
CLR_LED,gbdirection =1,

gbcount = 0;
}

int  main()

{
DDRE = _BV(PE5);
PORTE = _BV/(PE5);

TCNTO=0;
TCCRO=_BV(CS02)|_BV(CS00);

TIMSK =_BV(TOIEO);
sel();

while(1);

}
*

/********************************************/
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/********************************************/
/*
void delayms(uint16_t ms)
{

uintlé ti;

for(i=0;i<ms;i++)

_delay_loop_2(4*250);



int main()

{
DDRE = _BV(PE5);
PORTE =_BV(PE5);
wdt_enable(WDTO_19);
wdt_reset();
delayms(500);
SET _LED;
delayms(50000);
SET _LED;
while(1)
wdt_reset();

*/

/********************************************/
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/********************************************/
/*
void putc(uint8_t c)
{
while(!(UCSR1A& (1<<UDREL)));
UDR1= ¢
}
uint8_t getc(void)
{
while(!(UCSR1A& (1<<RXC1)));
return UDR1,

}

int main()
{
UBRR1H = 0;
UBRRI1L = 0x57;
UCSRI1B = (1<<RXEN1)|(1<<TXENL);
while(1)
{
putc(getc());
}
}



*/

/********************************************/

I Fh b5 2 ER A
/********************************************/
/*

uint8_t g bTxdPos=0;

uint8 t g bTxdLen=0;

uint8_t g bRxdPos=0;

uint8_t g bRxdLen=0;

uint8_t g aSendBuf[16];
uint8_t g aRecvBuf[16];

SIGNAL(SIG_UART1 RECV)  /HE Wb Ik ek %
{
uint8_t c=UDRI;
if(g_bRxdLen>0)
{
g_aRecvBuf[g_bRxdPos++]=c;
g_bRxdLen--;
}
}

SIGNAL(SIG_UART1 TRANS)  // 3% A Ik ek %
{
if(--g_bTxdLen>0)
UDR1 = g_aSendBuf[++g_bTxdPos];

}
uint8_t IsRecvComplete(void) /A i FIWr 2 A B R AL R O, JIWTHESZ 275 58 ik
{
return g_bRxdLen == 0;
}
void SendToUart(uint8_tsize) //&i% 16 A5 H%HE
{
g_bTxdPos=0;

g_bTxdLen = size;

UDRL1 = g_aSendBuf[0];

while(g_bTxdLen>0);
}
void RecvFromUart(uint8_t size,uint8_t bwait) /i B M\ A 1152 I s 10 4
{



g_bRxdPos = 0;
g_bRxdLen = size;
if(bwait)
while(g_bRxdLen>0);
}
int main(void)
{
uint8 ti;
UCSRI1B = (1<<RXCIEL)|(1<<TXCIE1)|(1<<RXENL)|(1<<TXEN);
UBRR1H =0;
UBRRIL = 0x57,;
sei();
while(1)
{
RecvFromUart(16,0); T 5 BERTWCE A () K
while(!IsRecvComplete()); /A Rr BRI 0, WL 5E B
for(i=0;i<16;i++)
g_aSendBuf[i]=g_aRecvBUf[i]; /K48 2] (1) B TN ik Gz X
SendToUart(16); IGEFIRGE MK ) 16 71 (R 4L
}

*/

//***********************************************/
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//***********************************************/
/*
char g astring[81];
int usart_putchar(char c)
{
if(c=="\n")
usart_putchar(\r');
loop_until_bit_is set(UCSR1A,UDRELY);
UDR1 =¢;
return O;
}

int usart_getchar(void)

{
loop_until_bit_is set(UCSR1A,RXC1);
return UDRI1;

}



void lolnit(void)

{
UCSRI1B =_BV(RXEN1)| BV(TXENLY);
UBRRIL = 0x57;

fdevopen(usart_putchar,usart_getchar,0);
}

int main(void)
{
int tmp;
lolnit();
while(1)
{
Iwayl: IXF 51 K HE ram
printf(" IR L[ %A —FFFH]AN");
scanf("%s',g_astring);
printf ("% 1A A %s\n”,g_aString);

Iway?2: 1 [T flash [X (1) 745 e
printf_P(PSTR(" I 2[4 A E7]:\n"));
scanf_P(PSTR("%d"),& tmp);
printf_P(PSTR("# 141 A\ 24 :%d\n"),tmp);

*/

//**************************************************/
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//**************************************************/
void DelayMs(uintl6_tt)
{

uintlé ti;

for(i=0;i<t;i++)

_delay_loop_2(250*4);

int  usart_putchar(int8_t c)
{
if(c=="\n)
usart_putchar(\r");



loop_until_bit_is set(UCSR1A,UDRELY);
UDR1=g¢;
return O;

}

void miniprintf(char *fmt,...)
{

va_list ap;

int8_t strvall6];

int8_t *p;

intl6 t nval;

uint8 t i;

va_start(ap,fmt);
for(p=fmt;*p;p++)
{
if(*p!'="%")
{
usart_putchar(*p);
continue;
}
pt+;
switch(*p)
{
case'd:
nval = va_arg(ap,int);
itoa(nval ,strval,10);
break;
case 'X":
nval = va_arg(ap,int);
itoa(nval ,strval,16);
break;
}
i=0;
for(i=0;strval[i];i++)
usart_putchar(strval[i]);

}
va_end(ap);

}

int main(void)
{
uint8 t i =-5;



UCSRIB = _BV(RXEN1)| BV(TXEN1);
UBRRIL = OX57;

while(1)

{

miniprintf("dec:%d\n",i);
miniprintf(*hex:0x%x\n",i);
i++;

DelayMs(1000);
}



